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Question Number : 1 Question Id : 4771878254 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the INCORRECT statement regarding growth. development and
maturity of the child
HLBem S ilsiT susriFF, Gubur® wHnID WIHTFF unpyliu SsunTeT Fnhsn DS
SEMTL_1) 5.
Options :
Development refers to growth as well as behavipural changes

Gubur® sTsiTUS) susTi FFsH b FL SMSG LTHDSMS YLD HUSSDSHI.

1. ®
Growth refers to structural and psychological changes
SUETT F& 6TeTLIZI 2 (Fsu WTIMHDSmSULD 2 srailwsh wrhHmndens LD
SUSSDSI.

2.¢
Biological and environmental factors influence development
2 wilflws wHnb FHLpedlwsd HTremnflsst GUbUTL 136 STEHH5MD
T U (H5 515 5T DsT.

3. %

Maturation refers to the emergence of an organism’s genetic potential

WITFS srairugl 2 wiflarmssfisr wrusgms GCsTHDSmsSE HUSS DS



Question Number : 2 Question Id : 4771878255 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the Development Theories given under List-A with their basic aspects

given under List-B

suflens A- wilsit £1p GarHssiul_Hsirer Cubur’ H% CsriurBsst HUlSEs

ailglssmer auflens-B uiled GlarRSs0Ul HsTarsuDmlsr gL

Fn MISTETT (R GlUTHS5H1%.
List- A

auflsms - A
(Development)

(Suwbur®)
A)  Erikson's Psycho-Social i)

Development
sTiA& Feutlsir 2_smailiwisb-
Fpsaillws Gubur® —
B) Piaget's Cognitive Development 1)

UlwrGlgullsr gynlemt Guwur®
C) Carl Roger's Self Development 111 )

&rirsd Grreprlst st Guibur®

iv)

Choose the correct one

stiwraT aflsnLsnis 651565 HSS

Options :
A-in, B-iv, C-11

A-1, B-11, C-m

List —B
suflens =B
(Theme)
(CICEEN)
Depends on concrete and abstract

thinking abilities

BV T WM MILD &(Fsu
mlemsvullsorer Fbsemer

3 wspien wen L FTTHSH
Depends on experiential learning

&) sW) LiGw & &N MemaLF FIHBHH

Depends on universal ethical
principles

2_sussrrailiu 2mnblBEnls
Gl&TsiTeNHHMETF FTTHSHI.
Depends on the result of child

interaction with his sgeial
environment

BLHMD HMH] FAPHF
@Lpadlsh 2_pauT(HsusnSLi
CUTRIS 535



A-1v, B-1, C-n
3.¢

A-1m, B-iv, C

Question Number : 3 Question Id : 4771878256 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
According to Erik Erickson’s ‘Psycho-Social Development Theory'. a student of

Class IX 15 in this stage of crisis
6T TS Faflsir 2 arafliusy — Fepsallwsy Guwburl Hés Gsriuriigsirulyg 9
2 sugl uwllab wrenTsusit 3)(FS G0 ClB(HHS I ILTET BHlsmsy
Options :
Inmitiative Vs Gualt

wpsirelear@iy Vs hHm 2 swriey

1. %

Industry Vs Inferiority

Casriflst punF Vs smipsy wearliuTsitenLo
2. %

Autonomy Vs Shame

Sy flemin Vs Glaul" s o swri &4
3, %

Role Identity Vs Role confusion

uBE@ senrLflHse Vs uki@s @b
4.



Question Number : 4 Question Id : 4771878257 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following, identify the external factor. that influences Child

Development

Lilsireu Heussrsum Bls F1ohems susriFFullsy @HmsE H YnssTrsmt sTHiblaisrs

SemTL_1)| %
Options :

Physical environment

R eUilL s Glpsd
1.v
Hormones
ADTiGLDT6iT ST
2. ®
Intelligence
[ 6997 630T 1) 52
3. %

Emotional maturity

o _swTi &S (pFiit &
4. %



Question Number : 5 Question Id : 4771878258 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following identify those that are more helpful to teacher to provide
adequate learning experiences for every learner according to thier
individuality

LilsiTsumeusmmsum lsb spsublsurm sMEBurTlsr seaflssstenwsd sTHu 2w
sOMISSHauFsd) 2 Fab GuUTHLTET FHDL YMIUISNS HewL WITETLD

& T 0T 61 LD
A)  Ability grouping

Fuienin FTTHS &1 205560

B) Adjusting the curriculum

ss0all% S 1L SmsF FAOUMHSHIFH0
C) Adjusting the methods of teaching

sDUSSH60 pewmewwF FOOULBSHH60
D) Proper knowledge of the individual's potentialities

Satlwrerlsr g nms uHmlw Gurgiwrer sy
Choose the correct one:

sriwrsr aflsnLsmiwd C5iH65H55:

Options :
A B.C,D
1.¥
A, C.Donly
A .C.D w’ @b
2. %
B.C. D only
B.C.D w @b
3. %
A.B.Conly
A B.C @b



Question Number : 6 Question Id : 4771878259 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Saritha, a 12 years’ age girl, appeared and completed ‘Intermediate’ with A+
grade. This reflects that her
12 suw g Blemmbs FMisT steitm FAmiidl, BlswLFBlemsvsCsiallsd H6vbH1G6% TR
A+ sréens) Blupmmsit. & $TL_(HID &auEHsm LI Blsnsy
Options :
Chronological age 1s greater than Mental age

HTssuTenF suilgl Wwarsuilsns afl 955D

1. ®
Mental age is less than Chronological age
WSTaN Il STevsuilsns sulsns aill_& FHsnDey
2. %
Mental age is greater than Chronological age
LaTeU LS| STeVsuTlenF sulsnSallL 2 HlHb
3.9

No relation between Chronological and Mental age

HTe0UTsNF IS D@D WaTeHIIS NG THSHS BTy [Fsvemew



Question Number : 7 Question Id : 4771878260 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the correct sequence of stages of creative thinking
usmLULF FhFsmarullsT FTwTsT Uy Blame suflsnFsniu [3)smm S ranTs.
Options :
Preparation, Verification, Incubation, Illumination
- SWTTBlena, 2 NIFGFIUIS Blsns, 2 6T sustidSF Blemev, spafliay Blsmsy
Preparation, Incubation, Illumination, Verification

SWTTBlensy, 2 6T sustiFF Blemsv, spefiiey Blensy, 2 niFlGlFiiss Blansw

Verification, Preparation. Incubation, Illumination

2 MIFEFIISL Blemsv, SWTTBlemer, 2 6T susmiF&F Blamsv, psifiiea) Blema

Preparation. [llumination, Incubation. Verification

SIWTTHlens, sparflisy Blemsv, 2 6T susmi FF Blamav, 2 MiH G FISHs0 Blswsw



Question Number : 8 Question Id : 4771878261 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the following is NOT an example for primary reinforcement

LilsiTsu meusimsum mlsb spsitmy suspiLiGlLMFEIFIIsuSBI6D (LPSHETNIOILITETHI B6L6V.

Options :
Food

2 emTsY
1. %

Sleep
gn'eiaasm
2. %

Water

L. BT

Praize

urrm(h
4. ¢



Question Number : 9 Question Id : 4771878262 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
As a teacher, which test do you use to assess the aptitude of vour students?
o Y FAfITTs 2 BIST WwrenTeuTHeisT BT L Ss05 gemailL sTH 55
Caiallsmert LwsiTu®B ST T H6T7?
Options :
Thematic Apperception Test

RS0 GluTpsrFTT peitarmleys Coiey/ GFrHemer

1. %
Army Alpha tests
B rramisu gy sour Gaiaysst /| CFrHsmear
2. %
Raven's Coloured Progressive Matrices
TTauswtl6iT susiment 1pmHEUTE @ sl
3. %

Finger Dexterity tests

allrsl BIemISHSS DeiT GFTHemer
4.



Question Number : 10 Question Id : 4771878263 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

With respect to nature of the Head of the school. which among the following
lead to maladjustment, criticism among teachers and students?

sp(| usrsililsir Semsveuflsir Glurmiliilensr (& wsvilsnar)s & mSHls0 GlETsir (D
LilsiTeu Heusreun Blsv T 2 FArlwi wHmILD WwrenmTsuTHetsnL G

CuTrmSSLILUTLDHD BLSmS, alliFarssnF sulfl suFHsEHn?

Options :

3.

4,

Social adaptability and maturity

Fepsd Hpausd WHMID 1pFHTFSF

S
Participative leadership
LBl BlETsirEmlD Semevsmin
W
Authoritarian leadership
v 2,3&511 GUTSSTET SMaUsmLD
Self-confidence and positive approach
SerarUilssms wHmib GHiTswIosHD s Lpenm
®



Question Number : 11 Question Id : 4771878264 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which method iz more applicable to guide the student. who 1= facing the
problems like aggressiveness, anxiety, shyness, temper tantrums and poor
academic performance?

FanTenL_L1 GUTH G, HousNs) DsDsVSH] FF 2 0T 6y, ImdFF 2 _swliey, Higblrer
sTHU@ GaTu 2 smriey, LHNID CurFwrer ssval BlFwsFnb GuUTsTD
Ulrsssmemsenst sTHIT BB TsTSHLD TemTsuTsnaT sulfl HL S0 LS

GlUTHSSLTET (LpswD 6TH7
Options :
Cross- sectional method

BIEEG Claul B wsop

1. %
Casze Study method
ST 24116y LpsHD
2.9
Cumulative marks record
SIMsiT WA 6L LuFlsy
3. %

Introspection method

25CHTE G (H6T CFTHmarT) wpswm



Question Number : 12 Question Id : 4771878265 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

According to ‘Piaget’s Cognitive Development Theory'. the child exhibits this
at Pre-Operational stage

Hwrelgmuilsit g laysser suariFfls Cariuriiysr Uy M GHUEMS HaTH
wpeit GlFwsbur_{ Blsmeowilsh ST RIb Ly Hlewew

Options :

Logical thinking

Sitds THWTHF FAHSHS5H60

1. %
Conservation
spsiten DL CLgmHa0
2. %
Problem solving ability
FlEs560 FTHEHW Fwsenio
3. %

Egocentriam

" SHETairsUL LImm)



Question Number : 13 Question Id : 4771878266 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The changes in behaviour of an individual that occur by one of the following
factors does NOT fall in the category of learning
LilsiTsu(mib STTemflBsT spsiTHlsiT STTeMTONS sp(h HeoTWTsHLLD sTHU(HID BL 0S5
wrHmb FHHE SN0 susnswilsit H1p surTs)
Options :
Changes due to practice

Glrwsoupsmpuilswrmsd sFHUGID WrH LD

1. %

Changes due to experience

S LISUSFITT6) 67D LIRID LT HDLD
2. ®

Changes due to training

v Fullermsd sTHLRLD WTrHDID
3, #

Changes due to maturation
Pl FFuilarTsd eTHUEILD WwrHDLD
4.



Question Number : 14 Question Id : 4771878267 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the following List-A with List-B regarding multiple intelligsence theory

U piewTsmrdlayd GEriuriig st Uy suflsns -A -ullsh 2 sitersupsnp suiflsms-B

— wilsb 2_sirsmeuN (B GluT(HHHS.

List - A List -B
suflens - A suflens - B
(Intelligence) (Association)
(mu s smr ileny) (@gmriy)
A) Spatial intelligence 1)  Social smart
Glsusifluy BiswTsnT a6y Feps 9 Dlsyd Fismip
B) Interperzonal intellizence 1) Picture smart
2 (H6 (53 615 T (Hsu Tl6iT [HiswTsnTAjlsy UL g Dleysd Fniemip
C) Intrapersonal intelligence m) Self smart
Feafl UL L 6p(heuTlsiT Hiswrsmnt ey S5 B D6y Fn T6MLD

Choose the correct one
FriwreT spsitswmd CHiH oS HESS:

Options :

A1, B3, 0-1
1.

A-i B-ii, C-in
2. %

A= Beg i
3. ¢

A-mi, B-n, C



Question Number : 15 Question Id : 4771878268 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the INCORRECT pair among the following
Lilsitsu meusrsuH s seupmrer Bsmemrsnits CHiH65H S5
Options :
Differential Aptitude Test - Wechsler

usvFm BriLF GFrsenat - Glsusvsor
1. ¢

Equally Appearing Interval Rating Scale - Thurstone

FowTHs Gararnib @)emL Glsusf] gsrail- HisL_sir

Client Centred Approach - Carl Rogers
S TIg H6MH WTETT 600U S s3] (HApsm N — HTi s Gﬂ'rrgﬂ'sﬁ}
3. %
Thematic Apperception Test - Murray & Morgan

5HS5H unDlw (psirery)) Fmsit GFrsemer — piGr & Guwrissir

: Yes Display



Question Number : 16 Question Id : 4771878269 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following theory is related to cognitive learning?

Ulsitaupio Gariur@ssfisd eThs spsitm M50 suldl SHDaNEHS
GETLTysnLwig?

Options :
Learning by Insight

2 sTl # sulfl $HMsL

Learning by Conditioning

955 Blmaounisssd sulfl SHmsb

Learning by Trial and Error

3 x PUSTDI uPlE SHDD

Imprinting

allsv i njley
4. %



Question Number : 17 Question Id : 4771878270 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

“An individual once conditioned to respond to a specific stimulus 1s made to

respond in the same way in response to other stimuli of similar nature”. The

above statement reflects this principle of classical conditioning

‘pm GOIUUL L FTeiTLaid@ p(h ST sTsusuTn HlsvBSe GlFSnrGrr

emsLl GUTsTD FrenTLa)ls @ 2G5 wsnnullsh Hievmised GlFuisumi”

GuphssnTL F DI 6ThHS iy sulfl 965 Bl wynssmsoll Lrgusdsfng.
Options :

Extinction

S YPBEBTL S0

Spontaneous recovery

SHedrestl WL Tl L5 6T BlL_Lpsh

Stimulus generalisation

HTenTL 60 GILITHISHLWTSSLD
3.9

Stimulus discrimination

SHTamL_6d LmE@ U
4, %



Question Number : 18 Question Id : 4771878271 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The teachers and learners have to keep these view points in their mind for

seeking maximum positive transfer of learning.

2(H (PpswwTer ShHTwsnDd sNDsnsvd GleT(HdEs Gousinr (H 6T

sTRHTUTT&HULEUTH Y FAfwisehh sHEUTHD B)HSSE HHHH%meT

LD&UT 560 6% TeiTem Gausiar (HILD.

A) Identification of associations, similarities and dissimilarities among the
learning situations
GClaTLTyssnsr G aTmsTamS, SNHMs) @FHLsOls) 2 sTsm spUiLjsn en wjLb
WwHMILD PLriLsnip F)s0s0 THemS LD

B) Developing proper ideals and imbibing them to perform things in future
FHlwTeT FDSEHTemaT ausTTS5560 WHMID BsUDMD 2 _6iT6UTEISHF
GlFilisuBsiT suriilsvTs sTHITHTVSSHD BlFWsDLIL 6D

C) Building generalisations and making their use in further learning

ClUTHIMLITESSMSS S L snindH60 WNHNIWD Hsunsnnd GlHTi
5D Dslsh LwsTU B S5H15H60
Choose the correct one

FHWTST siTennd CoHTHLSHES

Options :

A 01115'

A, C bl_(pib
1.

B.C 0111}'

B. C w_ @b
2. %

A only

A B
3. %

A B.C



Question Number : 19 Question Id : 4771878272 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following which one comprises of personal events and experiences

associated with one's life

LilsiTsu HeusmmsuD Hlel sTHS PsITN p(HoU(HsDLIW sUTIpSMESHS BlHTLTLsmL_IL
SefILUL L BlSLPsY ST WNMILD 50 LISUEISN6TS 6% TeirL_S).

Note: For this question, discrepancy 1s found in

question/answer. Full Marks 1s being awarded to all

candidates.
Options :

Rote memory

G BB plemsey

Semantic memory

GluTHemTem LD Blsnasy

Short-term memory

HDIFW HT60 Blemaey

Senszory memory

L{6VSIISWTT 6Y [Bl6W 6T 6Y



Question Number : 20 Question Id : 4771878273 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the techniques that may help the teacher to sustain metivation among
students in the classroom

2 suFGlusnpuilsh 2 siTsm WTenTsul Haflsit 2mEHHmE Blsws BNISHIuSD S
2 FANLMHES 2 Faud iyl 2 55 Hmar F)arn s ranTs.

A) Reward and Punishment

Glsuing WHMILD F6WTL_sm 6T
B) Success and Failure

Gleunm] wHmib GHmsvail
C)  Level of Aspiration

B|8UTEY Blsmsv
D) Child Centred Education

BHLHEHS LIS FHsal
Choose the correct one

Friwrer spsitennd CHinHolsHES

Options :

L v AB.CD
B.C.D only
B.C.D w @b

2. %

A.C.D only

A C.D w Hib
3. %

B,C Glll:v

B, C wi @b

4. %



Question Number : 21 Question Id : 4771878274 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The percentage of learnt material forgotten immediately after 20 minutes as

per the Ebbinghaus experiment

stUlsirsmsiy giisF Garssmariiulyg | sHms Glurmsnsr 20 Bl 55D 50
Un@ 2 Lergwrs wnkHGuUTHD el Sl

Options :

72%%0

4, %



Question Number : 22 Question Id : 4771878275 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Teacher taught the lesson without considering fatigue status of students to
complete the syllabus. Many of the students could not understand the lesson
due to fatigue. The Thorndike’s law of learning that 15 NOT followed by the
teacher here i3

@(h FATwi wrenrsutsaflsir GFTisy BlewmsvsnwLl UNDS HeusHaULILIL TLD6Y
uTL S S L FmS (Piyd G CHTHal (H UTL Sm5H sDHUSE DT
LDTemTsUT i 16D LsTTsd GFmiallsir STremrors 9bsL UTL SenSLI
Yiikg Glsmsirsr wpiywallsbensy. b5 o FfMwrrs desrupnliuLrs
STTeNTemL_SH 6T DML aflF)

Options :

Law of use

LwsTURSSHID ailF]

1. ®

Law of readiness

QY WwSSHlms0 ailz)
2.

Law of disuse

LsiTUHS ST el F
3, %

Law of effect

L allsmearsy silF]



Question Number : 23 Question Id : 4771878276 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the statement that DOES NOT support the concept of Vygotsky's
Constructivist Theory
o "ﬂ')‘ﬁl.Lﬂ . . G . A i .'-1.'."
smeuGarisdlullsit UL smwliys CHriurliysit $mSH15HF Frilsvsurs
FNemms CHiH65HES
Options :
Social interactions are basis to higher order mental processes

Feps B allsnarssr warliGUTSFlsiT 2 wiBlsnsvd S 2y LiLisnL

1. ®
Cultural factors influence cognitive development
ussTUTLE (R% STrewfls6r 9 nley sustiFFulled sTH55m5
eTH LI () 551 Fl 5T st
2. %
Learning is the product of association between stimulus and responses
HFNM6L 6TETLIGZ] FTETL 60 LHMILD FOBSVIE S BawGw Blaup
- Gyl Glsusfliumr®

Language plays a vital role in cognitive development

2 mlsy susmiFFuilsv Clorfl ppsAlwwrar uklE suslSHDFI.
4. %



Question Number : 24 Question Id : 4771878277 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Inclusive education includes the following children in the classroom
2 _srsmL_&& WS Ssvallirearg LlsTs(Hl FUubsnssensmiyh su@Lliusn piilsd
C#i551% Gl&HTsiTEHLD

A) Socially disadvantaged children

Feps Blemsoullsd UTHSSUUL L (§L06NSHSH 6T

B) Physically disabled children
2 &b Flwrsd urglssuul L / wrpnis Snerref &Lwbensssir

C) Academically differentiated children

sevalluflsy wrpIUL L HLYHenSHsiT
D) Mentally exceptional children

LSTHMmeY UTHSSIUL L (L0050 SH6T
Choose the correct one

FHwTaT spsitennsd CHTHESH 55

Options :
A BC 0111}.'
A B.C n@pw

B.C. D only

B.C.D wi_{b
2. %

A, C. D only

A, C.D w’ Hib

A B.C.,D
4. ¥



Question Number : 25 Question Id : 4771878278 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In this model of inclusive education. the specially trained teacher moves from
one school to another and assists the differently abled children
2 _sirsmL_&&W Hsvall FTTHS @65 wrfll usTefluilst spm Amiiy uuilnh S
Gupp g FAflwi s usTerwilellHHH B)sirGlarT® UsTsrlsF GlFsiTm wWrHmS
SnaTTelS FYhenssEEHSFH 2 sallyrlsurt

Options :

Itinerant teaching model

AL afl® @)1 vwenfls G sHLSSH0 TSl
1.v¥

Resource model

SUIT PPSULD Lo TG
2. %

Ihstance learning model

GETEnEZTT $HMeD TS

Dual teaching model

B mEplemsr snLSH60 i



Question Number : 26 Question Id : 4771878279 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the statement that DOES NOT reflect the concept of self-concept
ST H55 UNDDIW $HSmS0 UrslusflssTs mnmns Csih6l50 55
Options :
Self-concept 1s the image of oneself

H6IT &(HHFH! sTHTUSI p(Hhsuen Tl upmlw b
1. %

Real self-concept reflects one’s actual perception of oneself

2 _SITEMLDILITET H6IT H(HHH 6@ (oY (HEML_ I (P60 LITET 6T66T6T &5 6m HLI

Urglusfissns

Differential Aptitude Tests measure the gap between real self and ideal
self
2 _SITEMLDILTET $65T H(HHH LNMID F6T Fevl FwHensL1 Lis STLILIL L

BT L& GFrsemearapsuld gsaunplsr FsnL Glausflsnw gsrssa0min
3.9

Ideal self-concept reflects the perception of what one should be

ool Fwnre H6iT HHSH THTLSHI sp(HsuT stOILg B)(HE55 Gausnr(Hib

6TsiTM) sTelTemTHem5 L1 LilrglusdlsSns
4. %



Question Number : 27 Question Id : 4771878280 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
One of the following method 1s suitable for teacher centric learning
LilsiTsu(BLb (pswmSHsilsD et Y F Mt swwwssHDalsHL 6IUTHSS LTS
Options :
Brain storming

FLOEMET & FdhH 6D

1. %
Demonstrations
@Fwsb aflsréssl
2.
Discussions
oxll6u T % B1 5 61T
3. %

Project works

spLUILISDL_LILJLT LIsuoT] 5 6iT



Question Number : 28 Question Id : 4771878281 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Co-operative learning helps the teacher to develop these among students

sn l_(HD6YS SHDs0 WwTenrauisailsnL_ G Faumsnm 2 HaurdFHasnE
Y FAUHSE 2 s s D3l
A) Group processing

& p GlFwsduTsE

B) Individual accountability

SautITsT GlUTmILIL s L enLo
C) Face to face interactions

CrmEsEH Gt [F)anLailsnarimTL_sd
D) Positive interdependence

@B eW DI TET spsiTMIS bl TeiT D Tar FTiL
Choosze the correct one

Friwrar spsitsnmnsd CH1H05MH 55

Options :
A, B.Donly
A B. D w’ b
1. %
A B,C 0111}'
- A B.C o puw
B.C. D only
B.C. D w @b
3. %
A.B.C; D)

4.



Question Number : 29 Question Id : 4771878282 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

According to this section of Right of Children to Free and Compulsory
Education (RTE) Act-2009. ‘No child shall be subjected to physical

punishment or mental harassment’

HUbmsHsT LTINS ssvall 2 flemins s SHlstuy (RTE) Act-2009, @ns0
Uirley TS (H GHLEMSULD 2 L 60 FHUTSHS Se0TlpSHLULL S Fn L TH B6Us0SH]
WaTT S ITSHE HSTYNISES Tl TH sTeTLIWSE (HDSS DS

Options :
Section-17

o a7

Section-16

Ulrlsy -16

Sectipn-19

y % Ufay-19

Section-18

ey -18



Question Number : 30 Question Id : 4771878283 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A teacher who got 1rritated by the comments of Headmaster showed her anger

on students in the classroom. This 1s an example for this defense mechanism

P(H SN IITHATIWHML I S HSSTL i S FATWT sTTFFVMLBH Y555
CarTussms suFGlusmmidlsh F6T WwrswmrsuiSeflL b ST HSmTT. 35 6Teksusms

SDHTUL BL GMFEHF 6T(HSHSSTL L T(HLD

Options :
Rationalisation

STrenTid &HLUlSH60

1. #

Displacement

@)L 06 LS
2. ¢

Projection

sTHMIL1 LI & 560
3. %

Compensation

T(hHHL_L 6D
4. %

Language I Tamil

Section Id : 477187259
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 26
Number of Questions to be attempted : 26
Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 477187412
Question Shuffling Allowed : Yes



Question Id : 4771878284 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (31 to 35)

GCarRssOul_HsTear usSlemils SauaTTsll Ly ss aflarrssens s
aflemL_wefl& Sayib:

SLO1pLI WENNINENE AL HEM VDS 5T 6TSIT M) GurmHpUuBiD
Fl.omau.sTETSTaTTT Fevdiens, wrpliurswmsslsy Umnbssut. sUPHTL HSE
summEYTHaI, S0 Fmusrsug suwglCGw B35 6B alletEsih sTeTsnb HTsma
2 smryLsit uFidlss GeustlilC @, MlepTHefsT SousTsamss SeuibHsul.
1868-gy1ib  gyeir®, OGlsrevsriodlug GsrvaglsTrssngss Csarrenrmwi
2 smrsnwwib Llsrewt #s056l5Tems, @empwerTi subluTmsr, af rGFriflunb
2 sl U Brsvssmsmiyd GlFbsmwwrst uFudlssit ysp GlsTewrmi.
9| FFHI LT BlsLaUTSH, S L snemd HedSHemD, BLFSSIT DTNV, @6TTLDEWT] 61 FsITLD
2B BITDHENETIYLD 6T B siTar T . BDTID suTFSLIYSSHLD (LpFSe0l s LT
RTS0SEMETILD 6T(LDF]SUTTIT .

9jsu(HeswL_IU SLOPLILIswTsnild SemTl GlufFlsusd urgifwrT, gsusnrs $mib
BL &S FHlareuissioret steirenibd B)swHE FAMwrTsslermi. gsisuwwb
Zlsui G RIAGWT UsdHBGHL SUD SDMIS SHSTT. B TFTRISSSTTTD,6lFsTener
wrpls sesprfluilsd sulip uswrysrrs Bluwlssoul Lri. Umng, Ulsrsv.
Csiallaib Csr&f Glunmi, FHouGsTenTtsSlsd supssnleprrss usniwrnml, 1884
2D g arys) YHSCHETLsmL 2 wigSlwsrm Baugwrs Bluwlflésiul Lrr.
STEWTSraTi sTHFH0 Uswil HOlerrepd FwH GFrHES0 UWILTES 5HS

SL_enL0WTH 6T

Sub questions

Question Number : 31 Question Id : 4771878285 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Fl.omou.STEWTSTOTTT 6THS 2, &g st YHSCHTL sw_ 2 wii B FlsiTn

B3USwrs Blwblssiu’ Lri?
Options :

1868

1901

1864

1884
4.

Question Number : 32 Question Id : 4771878286 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

F.emeu. FTETSTaTTT TSI HIs) 6T

Options :

560506l 5Tem S

SL_Lememd H60l5516mD

2.

s TEFmflwin
3. %

BswDILsT T 5116 LT (HeiT
4. %

Question Number : 33 Question Id : 4771878287 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

91 spT HeiflsiT HousTHemsl GluNm F.omeu.sTEWTSTaTTT YHILSS5HTD

Options :
. GlsrsdsTiLilwib
1.

SL_Lememd H6055160D
2. ®

Qi aflarisi
3.\#25@ B aflarssiD

BLU_F53 TLOT6MnE)
4.%

Question Number : 34 Question Id : 4771878288 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
‘Florsut 55wt steiTsnild FHsmip L SH wsur?
Options :

Gluffsusd urgfwmi
1. ¢



STGTSTeTTT

2. ®

o u

GFsrmsusn i
3, #

3)sw mweormi
4, ®

Question Number : 35 Question Id : 4771878289 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Fl.omeu.STCLTSTarTisuPsSsPlEhTTa0 UsniwTHOlw @)L ib?
Options :

&HLLG S TemTLD
1.

WEAEAEE i T

2. %
u_!.'rlcj;u_';u T&UTLD
3. %
(5l Fsdrement
4, ®
Sub-Section Number : 2
Sub-Section Id : 477187413

Question Shuffling Allowed : Yes



Question Number : 36 Question Id : 4771878290 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

(psDemau LT (R 9| l3FHM6MTS BB TMTLS.

Options :
188

1. %

500
2. %

269

103

Question Number : 37 Question Id : 4771878291 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Mg nsHn wpunFiyL st G spsmsrs Gallliusmsd UnSE@Hw sTupssHsir

Options :

PP
1. ¢



Question Number : 38 Question Id : 4771878292 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Z.B)TTEBTITILSNTST 6ThS BTausaISHTS FTHSHIW sTEISL ailmzm GluHDTi?
Options :

FHlemL_
1. ®

CH TSI THSHI LD H6IT

2.9

Lilgparassir
3. %

LD T ILILD T 0T
4, %

Question Number : 39 Question Id : 4771878293 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
BAphasre F)snLBemesmend Caih o5 HHs.
Options :
[E.Ij: H_), EIH: F

1. ®

(1, 6, &, &
2. %

5, Ly o, Ger
3.¢¥

B)sv, 960, 9,



Question Number : 40 Question Id : 4771878294 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

“SysiTYLD Y maiib 2 smi_SSTullsiT B)sUsuTIpSemS

LISHTLLD Lusnitb &1 - @ FelFinyeaflsd &)L bGlumnmysirar st
Options :

Gaunmiswio &) swf]
1. %

SHGPUCUDHD jewil
2. %

GlFrsuLilsiTeu(h Blemsv i ]
3. %

BIrsd Blsnm e
4. &

Question Number : 41 Question Id : 4771878295 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

‘GlupTst FHGIWwTIH Bredlsr gy fAflwi?

Options :

GlUTILEN S W TP T
1. %

HUCFST S 1psuTi
2.

LhHSHSTLpeUTT
3. %

GuwiTipsuri



Question Number : 42 Question Id : 4771878296 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
suTFs0ls0 L TewT BINUSHIHHILD
su(HHSTLSY Ffld G
@B50 Lysma
sTUILIg S B\5T(HSS BT6ST — sTeurll LITig sy
Options :

o 10T WEHsVsUT]
1. ¥

TTE2 DT & & TeuimL_6iT

2. &

Ll rdlsir
3. %

=], 5L0 BTLD
4, %

Question Number : 43 Question Id : 4771878297 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

‘BHHSND sTeiTsnd GlFTsvemsols LS5 sTupsIs FlawL_OiLz?

Options :

ST + 2_Fab

53l + YL
2. %

I + 2 Faylb
3 ¥ Sbal =1

263 t 2 Fab



Question Number : 44 Question Id : 4771878298 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

‘S0 allpBsI sTeiTD HTellsir o FAMwi?

Options :

&r@ﬁ?ﬁ'ﬂﬁb‘&'ﬁij_@m
1. %

Brr.U.Gegilsrsnsr

2.9

FbS T
3. %

&(m.6l.%
4. %

Question Number : 45 Question Id : 4771878299 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
‘@i Fed) sTedTeRld GlFmsvsllsiT Glum(wsiT?
Options :

H &ATLILD

NUEETY

_ms'l,"tm,rrﬂsq
3.

BH&TL_F
4.%



Question Number : 46 Question Id : 4771878300 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
'‘BUTHHSTS ST sTHTUSI 6THSS SlsnemTGwTH GlsTLTsmL w7
Options :

Gl Wil
 Quepgmer

SIS FlsnsmT

2. %

CBTFFS FHlememr
3. %

5 F b | GMEIT
4.%

Question Number : 47 Question Id : 4771878301 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

HallsT 2 0 LIRSS T6T 6TiTLI)

Options :
GlFwiiur’ { allsnarsblsTii
1. %
sTSITsnm ailenarselsTiT
2. %
. o swriFFS GlsTLi
3.

GlFiiallsnars GlsTLi
4. &



Question Number : 48 Question Id : 4771878302 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

‘QUTLT @)TTET, SUTLT SeRTeNTT sTETM ST LHMETL LITT 515 FnM)I6UF]

Options :

- LITsD &) (LpsUsmLID S

LDTL] 68U (IpsUEMLLS)

2. %

HTs0 6 (1LpsUEHLDS)]
3. %

@)L su(psusmio
4.%

Question Number : 49 Question Id : 4771878303 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

£C GlaTHSSIUL HsiTar GFTnHsaflsy sTgh 2 uili$6sTL TS FHHDIwWs)sTn?

Options :

Ellb'!l"m'{_ﬁ‘.'
1. %



Question Number : 50 Question Id : 4771878304 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
QuUwiD usTULSSMES 6151ey GlFiis.
Options :
2 mi

FlsvLh

Question Number : 51 Question Id : 4771878305 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
B)smiIGH TouIg H6T 6THS TF WTsmUF CFiHHeui?
Options :

LIsU s
1. #
GEFpi

Gasmipi

I_II'I'(:'-EI;'&'I'L!"LUJI'I"'



Question Number : 52 Question Id : 4771878306 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

FITEIL S SIH6T sTHSHMET susHSLILIHILD?

Options :
1. HA3l

sTL_(B
=40

BTSiTE

Question Number : 53 Question Id : 4771878307 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
yewri FAWlsTEUTSH ‘o FBL 0" eTsiTh flF] F1pEHTEmID THSF
RlFTsbsps L GluTHBSID?

Options :

Gl wsir
) ® (LpSHILDTLD
3 Gasuig

GBS sin)
4, %



Question Number : 54 Question Id : 4771878308 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
GleusiTuTeaysHTIL PsnF
Options :

@T_ﬁjaﬁﬁ gPEmF
1. =

gjﬁiwmsb PEMF
2. %

% .§|aaems'ﬂ PENF
3.

GlFriuGrems
4,

Question Number : 55 Question Id : 4771878309 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Thesis - stsitusNsTaw FIIWTHT HsMeLFLFTLMVS CHTHGH[HS5.
Options :

Flebreurid



Question Number : 56 Question Id : 4771878310 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
P 2 _Lsb FTih5 GlFwsilenars GlFilsusnFTu LS GauwTar 2 1 60 susriFFGw
sTeTLILI(pLD.
Options :

(BT &FF
1. v

WSS Blema

2. %

- r::usmi‘;_r;sb

&.Lrjpsu
4, %

Question Number : 57 Question Id : 4771878311 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Brruil M.srsGar sTE5mar susmss sHDsUSmary unn) aflers @A pri.
Options :
% 7

2.¥

4% 10



Question Number : 58 Question Id : 4771878312 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

STTS Hsvalld S L 1D WKL 6T GlSTLiLsnL_wig?

Options :
RGFT

1. #

. % Glamiumii

3 o ST H B -F 6T

sMIGeus Terh ST

Question Number : 59 Question Id : 4771878313 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

BT sTswsuTm fABFSFEnmb (How we Think ) stsirm mmellsir ey Fiflwii

Options :
. 0

2o TeiT ()
1.

o mevariy GFmi]
2. ®

eRGsm
3. %
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Question Number : 60 Question Id : 4771878314 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
£aTehFsl sallnss GsTHUYSSsTS CHrush Lfls Glunpsut
Options :

o
=)

2. (msigemT e S B

uTrsl

2. %

9| railbst
3. %

& T i
4.«

Language I1 English

Section Id : 477187260
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 26
Number of Questions to be attempted : 26
Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 477187414

Question Shuffling Allowed : Yes



Question Id : 4771878315 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (61 to 65)

(61-65) Read the following passage and choose the correct option for each
guestion.

During the pre-independence era, Indian politician was almost non-existent.
He was given concrete identity and character by MK Gandhi. The social workers,
supporters and people from all walks of life joined Gandhiji for opposing the British
dominance over the Indian subcontinent. From these cadres, politicians of highest
calibre emerged. The reason of their political abilities and respectable status among
the Indian masses was their association with the greatest legend of their era Mahatma
Gandhi. Moreover, those leaders were pious to the core, knave, hardworking and ardent
practitioners of highest moralistic norms.

The masses adored these politicians of highest calibre and were prepared to
sacrifice their lives, property and sanity for the sake of the achievement of the sacred
objectives, which were defined by these true leaders of our nation. The leaders of yore
were the most respected people of society, the saviours of the nation. and role models

for the plebeian masses, whom they always tried to emulate.
Sub questions

Question Number : 61 Question Id : 4771878316 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The main source of respect for the early Indian politicians among the masses is

their
Options :
wealth and power.
1. %

Western education.
2. #

assgciation with Mahatma Gandha.
3.9

positions in the British government.

Question Number : 62 Question Id : 4771878317 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



What era is mainly discussed in the passage?

Options :

Pre-independence era
1.

Mughal-era
2. ®

Post-independence era
3 %

Modern era

Question Number : 63 Question Id : 4771878318 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following qualities was NOT attributed to the leaders?

Options :

Piousness
1. %

Deceitfulness
2.9

Hard work

High moral standards

4, %

Question Number : 64 Question Id : 4771878319 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What does the expression 'leaders of the yore' refer to in the pasaage?

Options :



Leaders from foreign countries

1. #

Leaders during the pre-independence era
2. ¢

Leaders who collaborated with the British
3. %

Leaders of India's post-independence era
4. %

Question Number : 65 Question Id : 4771878320 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What were the common people ready to give up for the leaders' cause?

Options :

Only their wealth
1. #

Only their personal freedom

Their future generations

Their hives, property and sanity
4. ¥

Sub-Section Number : 2
Sub-Section Id : 477187415
Question Shuffling Allowed : Yes



Question Number : 66 Question Id : 4771878321 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the option that correctly sequences the following sentences.

A) He apologized sincerely for being rude.

)
B) Later, he felt guilty about his behaviour.
C) During the meeting, Mr George spoke harshly to his colleagues.
)

D) Everyone accepted his apology readily.

E) It was because of a minor misunderstanding among them.

Options :

E.C.B.A. D
1. %
C.E.B.A'D
2.¢
B.C.E, A, D
3. %
C.E.D.AB



Question Number : 67 Question Id : 4771878322 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct option with regard to correctness of the following sentences.
A: People rushed to find shelter from the storm.
B: Immediate action can helps reduce future disasters.
Options :
Only the Sentence A is correct.

1. ¢

Only the Sentence B is correct.

Both the Sentences A and B are correct.
3, %

Both the Sentences A and B are not correct.
4. %

Question Number : 68 Question Id : 4771878323 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

“Despite being outsider, she was elected as chairperson of the
cominittee.”
Identify the suitable option to complete the sentence.

Options :

amn, a
1. ®

the, the
2. %

a, the

an. the
4.«



Question Number : 69 Question Id : 4771878324 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The police officer found a child in the hut.

Choose the option to complete the sentence.
Options :
frightenad

1. =

frightend
2. %

frighteaned
3. %

frightened
4.9 "

Question Number : 70 Question Id : 4771878325 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the silent consonant sound in the word “vehicle™.

Options :



Question Number : 71 Question Id : 4771878326 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the meaningful sentence.

Options :

Vhat they expected was to begin at six the performance.
What they expected to begin at six the perf
1. *®

. What they expected was the performance to begin at six.

They expected was what the performance to begin at six.
3. %

What expected they was the performance to begin at the six.
4. %

Question Number : 72 Question Id : 4771878327 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

I the order last week but the goods haven't turned up yet.

Choose the correct option to complete the sentence.

Options :

get gver
1. ®

sent off
2. ¥

finds out

glve in
4. ®



Question Number : 73 Question Id : 4771878328 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the part with an error in the given sentence.

She was the only person whose I could trust.

A B C D

Options :

D
1. ®

3.9

A

Question Number : 74 Question Id : 4771878329 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

He asked her. “Why didn’t you inform me about the change in schedule?”

Choose the appropriate reported sentence.
Options :

He asked her why she had not informed him about the change in

schedule.
1.

He asked her why didn’t she inform him about the change in schedule.

He asked her why she did not inform him about the change in schedule?

He asked her why has she not informed him about the changed

schedule.



Question Number : 75 Question Id : 4771878330 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

He never acts so rudely,

Choose the correct option to complete the sentence.
Options :

L% don’t he

does he
2.9

doesn’t he

did he
4. %

Question Number : 76 Question Id : 4771878331 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct plural form of the word "phenomenon”,

Options :

phenomenas

phenomena

2.¥

phenomenon
3. %

phenomenae
4. %



Question Number : 77 Question Id : 4771878332 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the grammatically INCORRECT sentence.

Options :

When she entered the room. everyone was talking loudly.
1. ®

While he was watching TV. the phone rang.

After she finished the exam, she goes to the canteen.
3.9

By the time we arrived, the guests had already left.
4.%

Question Number : 78 Question Id : 4771878333 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

She visits her hometown once 1n a blue moon.

Choose the meaning of the expression "once in a blue moon".

Options :

very rarely
1.

day by day
2. %

day after day
3. %

regularly
4. %



Question Number : 79 Question Id : 4771878334 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The hard work exhausted the men.

Which of the following correctly transforms the given sentence into the passive
volce?

Options :

The men have been exhausted with the hard work.

1. %
The men are exhausted with the hard work.
2. &
The men had been exhausted with the hard work.
3, #
The men were exhausted with the hard work.
4. <

Question Number : 80 Question Id : 4771878335 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

You will have realized by now that

Choose the correct option to complete the sentence.

Options :

I am quite seripus.

1.v

I have been quit serious.
2. %

I was quite serious.

I had been quite serious.



Question Number : 81 Question Id : 4771878336 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

There was a lot of conflict between him and her.
Identify the antonym for the word "conflict".
Options :

dispute
1. #

quarrel
2. ®

friction
3, #®

.'J.gI‘E‘ElIlE'IIT
4.

Question Number : 82 Question Id : 4771878337 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

He was deeply affected the news of her departure.

Choose the correct option to complete the sentence.

Options :

of
1. #

oI
2. %

by
3. ¢

off



Question Number : 83 Question Id : 4771878338 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
At this juncture, 1t is impossible to say whether she will make a full recovery
or not.
Here the word “1mpossible” is a /an
Options :
verb

1. ®

adjective
2.9

1oun

adverb

Question Number : 84 Question Id : 4771878339 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The city we visited last summer was ineredibly beautiful.

Choose the correct option to complete the given sentence.

Options :

=
L% who
whose
2. &
whom
which

4.



Question Number : 85 Question Id : 4771878340 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following best describes the integration of LSRW gkills in

Communicative Language Teaching (CLTJ‘?

Options :

Practicing grammar rules in isolation
1. #

Developing language skills independently

i Using real-life contexts to enhance language skills
3.

Relying only on writing assignments
4.%

Question Number : 86 Question Id : 4771878341 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following best distinguishes a method from an approach in

language teaching?

Options :

A method 1s broader than an approach.

1. %

An approach is a set of classroom activities.
2. ®

A method 1s the theoretical basis, while an approach 1s its application.
3, #

An approach is a theoretical viewpoint; a method is a practical plan for

implementation.
4.4



Question Number : 87 Question Id : 4771878342 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which activity helps best in reinforcing vocabulary in young learners?
Options :

Dictation
1. %

Grammar drills

3 ¥ Word games and picture associations

Writing reports on vocabulary
4. %

Question Number : 88 Question Id : 4771878343 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

“During a courtroom trial, a juror listens to the defence attorney’s argument
to judge its logic and truth.” This type of listening 1s known as

Options :

Selective Listening

1. %

Discriminative Listening
2. ®

Critical Listening
3.9

Appreciative Listening



Question Number : 89 Question Id : 4771878344 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The primary aim of evaluation in English Language Teaching (ELT) 1s
Options :

to pass or fail the students based on their performance.

1. ®
to 1identify the learning difficulties of the students and improve
teaching.

2.¥
to rank students among other competitors.

3. %

to complete the svllabus and prepare the students for the next class.
P i prep

Question Number : 90 Question Id : 4771878345 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A psvcholinguistic barrier in learning Enghish refers to the
Options :

lack of playground.
1. #

poor classroom seating.
2. %

v fear of making mistakes.
3. o, i

familiarity with foreign culture.

4. %
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Question Number : 91 Question Id : 4771878346 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The Siwalik Mountain ranges run parallel to the Lesser Himalayas for a
distance of about 2400 kms from

FlourslldF WwWemevH0ISTLTH6T STLpsuTsT (@) DIWLDsWEVSH EHESE () shenTILITSH

sin&Fmmiu 2400 FCsor 1L GlsTemsvailsd |k S
Options :
Hindu Kush Mountain Ranges to Brahmaputra Valley

BIb5 Heg wemaS6ISTL ST (1pssd UlTibin YSS TT UsTenSSTSH (S auemT

Potwar Plateau to Hindu Kush Mountain Ranges

Gum_Msurd T bl 1pss0 B)H5IFH63 Wens0H6lSTLTH6T suswT

Potwar Plateau to Brahmaputra Valley
v GumRsuri FL uf) opssd Ulribw YS3rm UsTers$5TH S susnr
3.

Rivers Ghaggar to Teesta

STEHT YN (PHs0 FVST 0] SUMT
4. %



Question Number : 92 Question Id : 4771878347 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The words latitude and longitude are derived from the Greek words ‘Latitudo’
and ‘Longitudo’ respectively, which means
sormpmprELr (Latitudo) whmnik seorerFAnprEL (Longitudo) steirgln £1Grss+
GlernssflslHHa wsmnGw 9 FGrsws (Longitudo) whHmn
Fie5Grems(Latitudo) steirdlp GlFrhHsst GlUDLILL L T, gsunmleT Gl msiT
Options

Length and width

B6MTD WHMID 2H6LD

1. %
revolving and rotating
. FOMIFH6D WWHMILD FLD6DH6D
2.
height and depth
2 WD WwHNID S
3, %

width and length

v 9|S60LD LHMILD B eTLD



Question Number : 93 Question Id : 4771878348 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the Statement that best describes the ‘Inversion of temperature’

‘sTgliwrn Lauliuplens’ QSTLTUTET allsTésS5F DS TaT Fmbhenns STl 15,

Options :
An increase 1n temperature with height

2 wWTrHsT gugriusnLuilst tlauliub yFlsrlssng

A decrease m pressure with altitude
G5SSIWTSFST 2 iusnLuilh) 9550 GmPSDSI

2. %

A constant temperature at all heights

STEUSUT 2 W IHSled Blsmsowmsr Glsuliuplsnsy

A decrease in temperature with height

2 wWrsFler gy iusnLuilsh Glautiuplensy HmnE D



Question Number : 94 Question Id : 4771878349 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
This Meteorologist and Geophysicist had hypothesised that the super continent
of Pangaea broke up to form Laurasia and Gondwana Land

@53 suraismey g uisureri wHMID YallwlwsoTsr s H51GES TersirLig
LITBISDSILT sTedT D AMLILITET STl LD 2 snL_hgl sorGrfwm wHmib
Gl& TaiTL_suedTT 6T6iTM BleVBIS6T 2 (HouTuller

Options :
Alfred Wegner

L@ 2600317 Bleuds e

Marcia MeNutt

) % ST Glodsre

Harold Zaffreys

GlanrrsvR GFosLism ran

Zhang Heng

4 ® FB Glsm



Question Number : 95 Question Id : 4771878350 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Submarine Canyons are observed in this region of the Ocean Floor

BB uGSullsd 2 sirer HLs0 FemHFHs HTemTULIHSGTD SLID HL_60
LISIT6IT 5% T &FH6IT 5 TemTLILI (B)%] sorD 637

Options :

Continental Shelf

. ST S5 (H
Continental Slope
FeWTL_F FI

2@ b
Abyssal Plain

3 % SIS L 60 FoGlsuai]

Oceanic Deep

GlLHBISL 6D o 1pLD



Question Number : 96 Question Id : 4771878351 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
This Voleano 1s known as ‘the light house of the Mediterranean Sea’
@b sTiwsnsy WHH WS TS HL_60l6T HLBISMT MlEMEHLOTSH
Y pluliuBSns
Options :
Mt. Pelee in West Indies

Cun&AlBFs Fajsersd 2 srer waysrt LTsd]

Fujivama in Japan

SULTslsy 2 sirer ssligdlinr
2. ®

Stromboli in Sieily
v FFAaflullsv 2_sirer sior_ GrmbGlursd)
3.
Cotopaxi in Equador

FdhEHeuLTisL 2 _sirer GarGLrurss
4. &



Question Number : 97 Question Id : 4771878352 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In this part of India. Red Soils develop on erystalline and igneous rocks in the

areas of low rainfall
HMDES Wenpl1bluTifleysiter LS Ssis0 STemTliL(Bib LIgS LTsnDSsT
wHmI FUurenmsst Swsh GFmwam @ BSwrallsT GHsL LS wilsd
2_(HeUTH DS
Options :
Eastern and southern parts of the Deccan plateau
H&Hmemt LT iluilsir $lps @ wnnih Glan@U uGSlssr
1. v
Western and Southern parts of the Deccan Plateau

F&HTemr LT Lpfluilsir Gon @ wHmih 615m U UGSl ssiT
2. %

Andaman and Nicobar island Region
_— S BHLOTST BlSEEHTUTT F oyl @S S6ir
North western part of Indo Gangetic plain

4 % Ffbzl sBsnaEF Fwbsusfluilst suL SwHEHL UGS HsiT



Question Number : 98 Question Id : 4771878353 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

As per the Directorate of Economics and Statistics, Ministry of Agriculture,

2017, the percentage of land under Net Sown Area is

QurmerTaTr wHmh Ysirsfluilwsd @) wd@Brsan wHmib GsusmsunTsnLo

smwFFsssler ulg 2017-g b gy arg st Blsr allsnsuyl ugswilsit Fsafsib
Options :

18.11%
1. #®

2.¢

4, %



Question Number : 99 Question Id : 4771878354 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following. the project constructed across the river Mahanadi is
LilsiTeu meusrsun misiT wsTHS W T HnISEs S LsnwdSsUul L Sl Lib
Options :
Sardar Sarovar Project

Figrt FGrmsut S L 1b

Rana Pratap Sagar Dam

rremrm Ulrsmo e gL ib

Hirakud Project

anlrram L S ib
3.¢¥

Pravara Project

Ulrmsurrm Sl ib
4. %



Question Number : 100 Question Id : 4771878355 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Second largest producer of Paddy in the world is

2 _sudls 9 FHwrs BB 2 NHuSSH GlFinyn BrawreTsus HTH

Options :
China

| % Feurm
Palaistan

5 % LIT 31670 % TeoT
Bangladesh

- LIBISsrT G561
India

BBFhwr



Question Number : 101 Question Id : 4771878356 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
One among the following 1s NOT the form of Cloud

LilsbTsu (HeusimsuD MIST 6ThS psiTm Gss 36T sulgsuih [F)svsmar

Options :

Cirrus

GlsiTLEhs GLSsLD

1. % D
Nimbus

ST (LpFlsD
2. ®

Sleet

S EUERIFL_1g LOEMLP
3. ¢

Stratus

Gl GosIUL soLD
4. %



Question Number : 102 Question Id : 4771878357 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
These forests are grown in the higher latitudes between 50° and 70° of the
northern Hemisphere
Bbss sThHssT 2 wi g #FGrsnasullst 50°whHnib 70° 53 @)ewuilsh o_sirar
UL o emTEEHTeTSSs0 aueTi &l siTmsr
Options :
Mediterranean Vegetation
WSS ISHNTHFHL 60 FT6u B 60T
1. %
Coniferous forests
parF uflems0d & m(h® 6T
2.9
Temperate Deciduous Forests
Wselauliuplsmse Blsmevwslt Hr(HHsiT
3, #
Tropical Evergreen Forests
Glsuliu wenTL s01 UFenio (B)sne0dH S T(HSsT

4, %



Question Number : 103 Question Id : 4771878358 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the Cold Current from among the following

LilsiTsu HeussuH misit Gafli B ETT L $6mS 9emL_ILITETLD &TenTsyLD

Options :
West Australian Current

Cumn@ YsdGreflw FErmLib
1.v

Kuroshivo Current

Gerrfled BGrmL b

East Australian Current

Flpsd & 2,s0FCrefl B ErTLib

South Equatorial Current

GlFeiT WwHFhw Grems HErTLL LD
4. %



Question Number : 104 Question Id : 4771878359 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The annual insplation received by the earth on 3 January is slightly more

than the amount received on 42 July, because

Famsuif] ppsarmT FlHzl LS HS Sl Ss0U6lUDHD suHLTIBES T S5
GaTems Fswsv Fmssr 4-g,b Hlsz GupDmsal & FArls o FlswrEb.

5T Bl 6oTsiT HT 6L
Options :
The earth i1s nearest to the Sun
o B eTumisE CpGEs550 QHEIns)
The earth is farthest from the Sun

i @ fwef 1 mHs Wsayn GsTamaallsy B mssns
2. %

The earth is neither nearest nor farthest from the Sun

wlwrars @&ianisE 2 meain @svsnsw blsramsvallsib 3)svsme

The length of the day 1s more

4 % UssBlUT IS WHaLD [ eTLTaT S



Question Number : 105 Question Id : 4771878360 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Rav1's weight 1s 80 Kgs and his height 1s 1.79 mts. Then, the BMI of Raviis

refluilsit stem 80 &Gsorlymib, e wrb 1.79 1L Fs6r. giLg Glwsirpmsd

gsumen_iwt BMI- steirugy (2L sb Blsmm @mluf_GlL_smr)
Options :

44.69

6.24



Question Number : 106 Question Id : 4771878361 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the correct statement regarding the distribution of workers among the
different sectors of the economy as per the data given in 2017-18
2017-18 syib gy eirigsd BlasTHSSLILL L STeySaflsiTLily, ClUTHaTTSTTS S s

FTTYS HlswDSHEHsE Glaml G GsTifleorsrissiisiT Ursisnsoll Lglsy GlaFluyLb
FTIWTET 2 DHNHMIL BN IITETLD HTemTsYLD.

Options :

The workers in the Industrmal and Service Sector are more than the

Agricultural Sector

GousrTaimsnied Hisnmmsnil afll Gl5Tflsh whHnIb Gsusmsrd FHiemmHer s

GousmsIITL H6iT 2 FHHLD

1. %
The workers in Agricultural Sector are more than the Industrial and
Service Sector
GsTiflsogimpD wHnID CFmasbgismnsmsralll GausTraimsnindg Hlsnmuilsy
GousmsDIITL H6iT 2SI HLD

2.9
The distribution of workers in three sectors 1= same
Bb5 rpsiTh HlswD BT Causmev T S5 FLOOTHL

3 % Uifl&s0u®& pri ssir

The worlers in service sector are less than the Industrial Sector

GlsTifsvgImD simpsnw ail GFsmsusd Hismpulilsd GlsTiflevTsmissir

(FHEMDEUTH 2 GiTsTauTT
4. %



Question Number : 107 Question Id : 4771878362 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In the rural areas in India. the main demand for credit is for
A nFwrallsh SrrwliynBissis) SLmbsTar 1phhiu CHensu sTaiTLISI
Options :
Purchase of agricultural land
L% GouaT TEIT [Bl60BIS6T sUTHI IS (&
Construction of houses

of s S HausD S
2. %

Crop production

vl 2 HuSF s E
3.9

Undertaking business activities

susmTls HL iy SemsHemsmT GLnblSTarsusn S



Question Number : 108 Question Id : 4771878363 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In India, Aadhar Enabled Payment System (AEPS) 1s offered by
AnFlwrailst g s GlFULHLBSSI S L swTLpsnnsnIL B 6mLILS]
Options :
Ministry of Finance
. B3P gemDFFHLD
1.
Reserve Bank of India

_ BbSw flFisy susbifl

National Payments Corporation of India

@BSwi uswr Ul ReurLT GlFWD BlnsusTid
3.¢

Comptroller & Auditor General of India

L x BB Hemsvenind HewTdEHS F6wilHsNSIWTeTT



Question Number : 109 Question Id : 4771878364 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The employees working in the State and the Central Government offices get an
additional payment called ‘Dearness Allowance’ or D.A. to
WOTHs0 WHMID WHFII 2 TH 0660 HBIH6 60 Liswi| GlFUIWLD LiswT wTsmiSsiT
sallsmsoriug gsvsvg D.A. stapib s Heb erFliisensls Glumisus.
Options :

Increase their income so as to meet the Increasing inflation

usmef s H5ems TR ClFIMSDSETS BauTSHEHeML I 61 (FLOTEITLD

EEAE At X ANTRIONE 3] 0 F 7|
1.¥

Keep additional income in the hands of employees

L6 | I TSI % (5Hsm LI smS U6l S (HSEUTEHT 6M(HLOTTSMS sweuSHHH
Gl&TsTsuSNHTH

Increase the purchasing capacity of employees

LIewT I TSI S(sHeM LI suTHRIGHLD Hmenear yFlsfuiusnsrs

Make the employees rich

LI s30T I T 61T B ameTL] LIsTTHSSTT H6MTSH 2_(HsY n’-:i;@sugj’_r']asn'ﬁ



Question Number : 110 Question Id : 4771878365 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The range of Human Development Index Value 1s
west|H susmi F4 wHLilsT suriby
Options :
1 to 100

1. #

Otol
2.

—0.1 t0 0.1

1 to 1000



Question Number : 111 Question Id : 4771878366 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Year 2000 is the base year. In 2001. the average prices of all goods have been
increased by 10%. whereas in 2002 thev have been increased by 15%. Then.
the Price Index in 2002 18
2000 =y gy et f gy liusn g erh. 2001 b oy eimigsd sTebsOTL
GlumpL_sersit sTrril aflsmeowyib 10%, aflwssrLrs 2 witss. 265 Fwwib
2002-3)s0 gsmeu 15% aflpssrLrs o wikss. uugwrsrTsy 2002 -nHsrer
allemsvds GHplul @) sTsirL

Options

.

n
L]

17

o
i)
L
LA



Question Number : 112 Question Id : 4771878367 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

These are used to calculate the Dearness Allowance to be paid for Government
Employees to revize legal wage rates

Blemau Wrsylh & rall LswiWTarT S6hsHS blsTH55 Gausmriyw o sailsnsl
UL 13 IIsneVS HaTHSIL R FULLTauwTs el sl #5555 S/(HHF] gsmiwnss
SR D LT

Options :

Wholesale Price Index

GliTss allmend GHolul ([
1. ®

Consumer Price Indices

KIFTEsurt aflsmsvd Hulud (HHsir
2. ¥

Retail Price Index

Favsvenm aflemevs Holul (B
3, %

Producers Price Index

2 _pusswmeri ailsmsvs GHnlul{



Question Number : 113 Question Id : 4771878368 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Removing barriers or restrictions set by Government is known as
STFTEY BIFewilSSUIUL L SMLS6T 90605 SU_HOUTL DL B &S5
S plwiuBug
Options :

Economic liberalization

L G]l_r.T@mrn'gn'u'g ST T T&ITLD LI LD T (3,5 61

Globahisation

2 s LD mrr:t@gsij
2. ®

Privatisation

ST IWITT LOILILD T (5560
3. %

Nationalisation

GasF I WITS HDH60



Question Number : 114 Question Id : 4771878369 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

During inflationary situation, the Reserve Bank of India reduces the money in
circulation in the economy to
uswTel $HHHaT GUTE FBS W TFisy suBiSWTaTSl Lo S S B a0 6T sm

UsRTSsmS5S5 (HMMDSH GIUTHemTTSTr 5560
Options :

Increase the purchasing capacity of the people

& H6if 6T suTHIFHLD FDewar Y SUUHSHIMSDSH

Malke the money available only to the poor people

STEMLPS EHABEH WL (HID LswTh Flewl & FHorn bFilsusn @
2. %

Reduce the purchasing capacity of the people

- D& HsIf 16T U TEIFHID FDeWaTS FHMDUILSD 5
Discourage savings in the bank so as to keep more money in the hands of
the poor people

sumIFilsy GFUlOUMS oS ILIHSS T sTemIpsaT sn il mHriLilsy

S FBLTET LIsATSHmS snsuliLSn G



Question Number : 115 Question Id : 4771878370 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

This Act/scheme mandates that it 1s the responsibility of the Government to
provide manual work on demand and the wages to the workers and the capital

needed are to be paid by the Government
BbsF BlFwsd wHNID S L 556U CHTTISEmS smaudFHULEUTH 2 L s
2_smiptiilsir suruilsvrs Gsusmev GlFiny GousnsWITL HEH HS SFH6m e il T6r
1560 QEemsmd GlsT(HES Cousim B EID6ITLISI H6WTLYLILITET S, 6% 63T I T(GLD
Options :
National Food Security Act, 2013

CaFlw 2_swreylt UTHISTUYF FLL1b, 2013

1. #®
Pradhanamanthri Anna Yojana

5 % Ulrsw whdflullst gysrearm Gursarr
MGNREGA

3.¢

The Factories Act

GsTfiDFTeNsF FU_L LD
4. %



Question Number : 116 Question Id : 4771878371 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Gautham Buddha suggested the Ashtanga marga (Eight-fold path) for
Glsersin UssT 263l THIS WITE55m50 (T HidFHU Urens)
ufbgien 553!
Options :
Making the people aware of the four noble truths

BT6IT(F 2 siTaTHLOTET 2 _siTenHsnsmll UN B! wHSHar afl il jsnrisuen L

1. #
Making the people to know the original teachings of Buddha
Y5567 g liusnLwrsT $NLSHsm60 WEHEHEHS 6STLILGH S5 H60
2. %
Elimination of human misery
Lo Teaf | L_Il60T SHUTUBISMET [ 55 H60
3.¢

Attainment of salvation

(pH B BewL_FHs0
4. %



Question Number : 117 Question Id : 4771878372 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the following books was NOT authored by Acharya Nagarjuna
Ulsireu(Bll LSS555516T psiTml o FFTT LT BT gdarrsums) sTIpsUUL aflsisns
Options :

Sunyavada

FET LSBT

Suhrullekha

F&HMHEST

Madyamikakarika
w&wblsTilsT
3, ®
Deepavamsha

& LIsUID&FT
4.«



Question Number : 118 Question Id : 4771878373 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The construction of these two temples in Rajasthan is considered as the most
notable contributions of the Jains to the domain of architecture

rresvugreatisysrer B bHs @ renr(h Carullsvseflsir L (Hwrsripid
Gl uilerTsafler S 191 $Hme0s FardHsd Wisa b FoUL sumilbs
UBISsTOUTSS SHSLLGHS DS

Options :
Dilwara Temple and Mount Abu

Flsveurym Garuilsh wHmID weaysir )L
1.¥

Khajuraho and Dilwara Temple

S0 DHauTEHT WHMID FlsvsuTrT GHrullsd
2. ®

Mount Abu and Lakkundi Temple

ey eMTL 2L LHMILD sudFHenry Gsrullsy

Dilwara Temple and Seth Hathisinghi Temple

L% glsvsurym Gamullsh wHmib GFs anFlFki# Gasmuilsy



Question Number : 119 Question Id : 4771878374 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The primary objective of the Marshall Plan was
WTTags) S L SH16T (1ps5eirsmind &MlsGESTsir
Options :
To spread communism in Europe
2Crriursailsh shwysflFsmsl Uriiysus
1. ®
To rebuild war-torn European economies

Gumrrmsy AsmaBz Gursr 2GrruUlwl GlurmeTTsTTSmS L swT(HILD
2_(HEUTH HF 60
2.

To create a military alliance in Europe

oGrraurailsh i @ rramisud F L L swilsnild 2 (HeuTHHSH60
3. %

To colonize Eastern Europe

4% FpdFH 2CrriuTemalsds LY GwnHDU UGS TS FH S0

: Yes Display



Question Number : 120 Question Id : 4771878375 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following, the Harappan Civilisation Sites located in India were
LilsiTsu (HeusrsuH misit saprriiusit Braifsh @bSwrallsy sreortul L @b
Options :
Kalibangan, Chanudharo and Lothal

He0UBISD, FOIL TErT wHmih Garssd

1. #

Mohen Ja Daro. Shortugai and Sutkagendor

Guransitr @sTGErT, agril RS wHNID 955 GlmsaTGLTT
2. ®

Kalibangan, Ropar and Harappa

SeflUBISD, Grruf WwHnIb aprour
3, ®

Kahbangan. Ropar and Lothal

4 &e0luBisb, Grruf whHnib Csrssy
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Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

As per the Chola Inscription. ‘Pallichchhandam’ refers to
Gxrips Hs06lsUL 196 Lilg “UsTaflFFHSID" sTeiTUZ] (HDIULN B sug
Options :
Land donated to Jain Institutions
Qe uileri BlmisusThiSEndHs STATLTSHS ETHESSOUL L Blsvh
1. ¢
Land gifted to Brahmins

5 % 9| 6:F 6T 5 (5hS HLU UNFTHS GISTHSSILL L BlULD

Land for the maintenance of a school

uerert urTofliysEsTar Blsolb

Land gifted to temples

GamullsbasEms @ LfFsflssOULr L Blsvlb



Question Number : 122 Question Id : 4771878377 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The archaeologists are of the opinion that the city of Vijayanagara had four
separate divisions. Among the four divisions, the first division was

alwWESETID BTsirg safssen UflsysarTs F)mbssH sterugl 65 Ts06LTHsir
g rmbFFwrertsaflsit smaH. F)BsL Uiflayseflsh s s Liflsursarg

Options :

situated on rocky hills which was devoted to temples,
CaruilsvasEmssTs BT riLmSSOILL L S0 LITHDSETTET LD6D6UH6N 50

| APLhgETeTS)

situated on the valley where crops were raised using water from irrigation

channels

BoaurFeT sumissrellsdmhal GlaTsnrHariul’ L Biflst 2 saflwimsy
, % 2 widsuul L Ll Hsr UsTeTSSTahS60 9)snL0bSI6Ten Sl

a royval centre in which royal palaces and residences of important nayaks

were located

5| TEOIT LDEMSIT S6T LHMILD (PSS WILDTET BT IS ST Her 67 &g wilHLrLHer o sirem

D TF sHIDISF6D )M LDHSHI6T 6T HI

Residences of ordinary people

FTHTTENT LDHSHEHNL_IU (FHlg u_'ﬂ@lj L& 6T



Question Number : 123 Question Id : 4771878378 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
‘Mehrauli Iron Pillar’ Inscription refers to the achievements of
‘Puwsrrsd F)mHbySHTenT HLGML HIST WTHsHLIL FTHMATN IS HDSS DS
Options :

Samudragupta

| = FSITGUST

Gautamiputra Satakarni

GlssrsL0 YSTT FHHT60]
2. %

Chandragupta II

FhaTHUST 11
3.

Ashoka

S CFrsT



Question Number : 124 Question Id : 4771878379 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In France, these philosophers wanted to create a society based on freedom and
equal laws and opportunities for all

UlrreitFlsd sTsLsOT(HSFHID FILWLTHT FSHSITD FWIOTHT FL_L LD wHMILD sumiiiflsir

g liusnLuwilsh F gsmlisnU 2 (HuTsS Bb55 S50 E5T60 56T
sl HLb Ll s

Options :

John Locke, Jean Jacques Rousseau

oTet Geursa], 2F6iT Wb HW,e GlrerFolFu]
1. ¢

Montesquieu and Aristotle

Cursrtpsvguily wHmnb = flsLmigsd

John Locke and Karl Marx

3 % o Teir Geurds] WNHMILD STT6D LTT s

Noam Chomsky and Karl Marx

GBI FTIbsS WHMID STHsD LTT &S



Question Number : 125 Question Id : 4771878380 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the main demand of women during French Revolution was that
Ureparts yro FAullsirGurg Glusmssflsit pasFlwwrartsrm Cariflsms
Options :
the women should get the same political Rights as men
v &, T HeMETLISLITED BLISHT 5 (555 (HLD 2 rFlwisd 2 flsnip
all the women should be included in the list of Active Citizens

sTSVEUTLI GlLISMTSsmemiyih LIWsnIsiTsT FHigodsssr Ul L wsdlsed GCFrss
CoussTHIib

Napolean Bonaparte should be made the King of France

GrUGuTstlwsir GuraTurilsnL i UrrsirFlsir rFrrss Gsusim(Hib

The power should be in the hands of third estate

SFSTTLD epsiTomD sTewEL L 131D @) /HE5 Gausir(Hib

: Yes Display



Question Number : 126 Question Id : 4771878381 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

As per this, no European power would be allowed to build colonies in the
American Continents and the United States will not interfere in the affairs of

Europe or colonies in other continents

Bemsil Glurmisssusnruilst sths pm 2Crrulu FéFlsmwyh 9 6lwflsss
BT SFH60 STELBlENVFHN6TS ST (HlsuBN (& B 0FHES S L TH. Goab
S GwN&EsT, 2GrraurallsT allsusTrasstGsor Un BrHSsl s
srsvalsen 3T semsoull_Sam L TaH

Options :
Truman Doctrine
L_ehLosit Gsmiuim(m
1. ®
Munroe Doctrine
werGrm GsrLur®
2.9

Marshall Plan

3 % LomTegsd S L LD

Treaty of Paris

. UTTlen) 2 L siTLigdens
4,



Question Number : 127 Question Id : 4771878382 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Libya 1s located in this part of Africa Continent

Uif&Ess samLsslsT @)Es0 ugglullsd sflulhur 2smwBsisTsrs

Options :

North-Western

L &E — Cung (sur CGuns)

1. ®

Northern

L &@F (auL5(5)
2. ¢

South-Easztern

Clap 5 - sl (CI3sTslns5)
3.

Central

BHOUGS



Question Number : 128 Question Id : 4771878383 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the following 1s the provision of Right of Children in Free and
Compulsory Education (RTE) Act. 2009
2009 =y gy et (RTE) #5561 Lig LilsiTsu hesusimsu i misir spsitm
HUHMSHEHSES Fsvsus LHMID S LTS Hsdall GlunisusnsTer 2 flenwss
sulflen $% HH DS
Options :
The Curriculum and Evaluation procedures must be in conformity with the
values enshrined in the constitution
UTL S L 1D wHmih wHOFE HF GlFwsvipsnn 2 rFlusnsoriyF
FUL 55560 Glurglibsisrer af s s Beonsswrs B mss
Gausir (Hitb

Every Child should be admitted into the school at the age of three

PUblUTH (HLPHMSMILIWLD H6TIgLILITS FLPSITDTsUF suilFlsD Lisisiulsh
Gards Geusmr(Hib

Children can continue in the school even after 14 vears of age for the

completion of Secondary Education

BlswL_Blsmsvsd ssvallsnil (1pigliLsNSTS spsublour® GHubsmsujn 14-=,m
su Bl siT LilsiTeu HLD UsiTsS Ssvallsmisd BlSTLT (pigujin

Child’s name should be removed if the child fails in the class

suGLiLilsd Gamsvall enLBsTsL FwhHsnsuilsit GluwsnT Ba5Alall

GausirHib
4. %



Question Number : 129 Question Id : 4771878384 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

With this act, the minimum age of marriage for girls was raised to 14 years

BbsF UL SFlsiTUly FMillssmesTer 5l Hwsnr suilg 14 95

2_wWwirGsuuLl (hHsrersl
Options :
The POCSO Act, 2012
CGursGsvr (POCSO) #11b 2012

Sharada Act of 1920

FrrsT FULib of 1929
2.9

Child Marriages Act. 2006

SHphmsd Fmwsnrd FUL1b 2006

Criminal Legal Amendment Act, 2013

2013—gy1b =y svmig siT GOHDaflsd FIL 535 (HS5 500



Question Number : 130 Question Id : 4771878385 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In 1953, the States Reorganization Commission was appointed under the
chairmanship of Fazal All to address the issue of formation of states on the
baszis of
ssuTFsy g sflufleir semsvswiouilsy 1953 -gyib gy er(R wrBlsw wmn uflFsvsmer

9}, 5MEMTILILD, LOTHISVBISn6T &snILILFls0 2 sirer FsHs0semarty LilsiTeu(Hib
Sy lusnLuflsd STOUSHSETS THURSSULLL Fi

Options :
Caste

1. % -::FITﬁ‘I

Religion

LD_e_ﬁLh

Language
3@ Gl migf
Culture

uesT L (hy



Question Number : 131 Question Id : 4771878386 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The main objective of Operation Blue Star was
9, LILIGTagsT Lieshsf0 L TilsiT (LieshsiVL T BL sl S605) (PHPIWd HDlsSHTsir
Options :
To conduct election in the newly formed states

YFSTH 2 (HaursSUUL L IThsUBISsTs0 GHTHme) L S5Isu5]

To clear the Golden Temple complex in Amritsar from Sikh militants

Fealwn Gurrreflsafl i /mhHa wiflssrisysirer Glurn Garullsne
afl Hafldiug
2.

To fight the Pakistan militants in Jammu & Kashmir

S HTagLl st uTsHsivgrsr GUTTTellseafiLib FeirenL wil(HSs0

Liberation of Bangladesh from Pakistan

UTESlsgTef L (HhS UksarT CsF5ms allhallsss



Question Number : 132 Question Id : 4771878387 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The major highlight of the National Emergency period in India was
BE3u B\ S Sy Blensw STs0SF6T LpsHE Fnmissr

Options :

4274 Amendment of the Indian Constitution

BAbsw yrfwsosnwliyF FUL 5567 42 -9 i FIU L 55 [H55LD
1. v

Entry of Rajiv Gandhi into Indian Politics

Bbsw g rFwedlsd rradsy STHS Ul suHmS

Enactment of Official Religious Act

SBIBTTLI LLTUDTEr WHFFL L Sems 5 wmhHmnissd

Formation of New states on the basis of linguistic principle

Gliomifluilwsd GlsTsirens 2y rinsni_uilsh LFl THEUEIFHN6T 2 (TS D60



Question Number : 133 Question Id : 4771878388 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
As per the provisions of Article 356 of the Indian Constitution. the President may
dismisz the State Government and order the Governor to take over the
administration of the State with the adwvice of

BB3w g rfwssmwliyF FUL S5l 396 g auzk FULulfallstuy 9@m wrpls
ITMFS FHlgWTHS FemsvsuT SmevSHl 9bS WTH Y B EHBmIL GlurmiiGunss

GlFinusord. FSNETar o Ca0TFanaTenIl suLpBIFLIsuT

Options :
Chief Justice of India
BBslwrallsr 2 FFBSsTD Smavsnio B I LS

Home Minister

2 _alHIsWmD) GYemLI0FFT

The Prime Minister

3 o Ulrsof

Chief Justice of High Court of that particular state

9ES WTHOSST 2 Wi BHsTNSIS T Hemsvewio BFILS
4. %



Question Number : 134 Question Id : 4771878389 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The two major ideological and political camps emerged in the post second world
war period were
BrewrLmib 2 s0sOGUTHSGHU LUnsTer sTesl L S560 Gararmiw F)rsor Glufiw
@l Fwib wHDID Y TFwsd & LpdHsir
Options :
The Communist bloc and Non-aligned bloc

GluTsIasnL_smio gsnilIY WHMILD sl GFIT BsnLoLiL

The Democratic — Capitalist bloc and Non-aligned bloc

BSOTHTIWS- GlUTHETTSTT SsnioliL LNMILD sl GFIT HsmoLiL

The Communist bloc and the Democratic — Capitalist bloc

@u.’r@sqm:_mw SO OHMILD SOTHTIWS — G]urr@smrg;n‘.r SEWLDLIL
3.4

Fascizt bloe and The Democratic bloc

ursfls SYsmIoLiL] IeHMIIE THTIS S sW 0L
4. %



Question Number : 135 Question Id : 4771878390 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A war fought behind closed doors through propaganda and words. without real
physical combat as in traditional warfare. This is known as

suIpSSLTS BemL Glumih CurflsirtGursl LwsTURSSUIUMRID 2,1 S58IH6T F)sUe0TLos
2(H fplg Il HFH6YdhFsT HemL Glumib STrFTT aflsuTsh whHnib &HEs6lFTmnHer
6TsiTLIS 2 Bl fBeug

Options :
Civil war

2 sTHTL_(HU Gumri
1. #

Cold war

) usstics Guimi

Guenlla war

Glasrifsvsomy Guri

Nuclear war

Sl 2 us0 Gurt
4. %



Question Number : 136 Question Id : 4771878391 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
‘CIA’ 18 the
‘CIA" steiTug)
Options :
The spy agency of United States of America
m&Fw 9 6wiflss HTHH6I T 2 6Tsy HsnLOlIL]
1.
The militant group of Russia

TeigwTadlsr Fallraurss Hup

A radical student group fought for their rights

3 % SBIFET 2_TsnSHEHSESTHEI GUTTTIGIW FIPSTIL DTH D WTEmTeUT &0

The space agency of United States of America

m&EHW 9 6lwrsEs BT(HssT T ailsnr6laust gsnwiiy
4. %



Question Number : 137 Question Id : 4771878392 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The primary aim of the Bandung Conference was to
LITswT (RB) T BT Ly 6iT (pHsiTemin GHTéHSID
Options :
Establish a new military alliance

2(H YIS B rremisuds sl L snilsni sTHL(BSHsus]

Promote Western democracy

CuDNHSFIU DOTHTILSSHMS 2 WTHHI5]

Promote Afro-Asian economic and cultural cooperation

g uULilflss — gl QUTHaTTSTTD WHMID HOTFFTT pH5H16MLOLISNHLI

2 Wit HHaH
3. ¢

Expand colonial territories

STeVaSHIULI LIS Hemem alliflsurs FHsuzl
4. %



Question Number : 138 Question Id : 4771878393 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following 1s termed as ‘Excess Rainfall'?
LilsiTsu heusimsum Hlsv st WlsnEswrar wenpublurflsnsus FUlsEDS.
Options :
+20 percent or more of the average rainfall

+20 gysvsvgy Frrarfl wsmipliblurlsy osTensuaill 2 fHb
1.¥

+10 percent or more of the average rainfall

+10 gsvevg Frrer wenptblurylsy gsTensuaill 2 FlHiD
2. ®

+19 percent to —19 percent of the average rainfall

+19 saai 555160 HHSH Frrar wanpls Gluryflsnsu alll -19 ssaf s

-20 percent to -59 percent of the average rainfall

-20 556755560 mbH Frram wemipll luryflsnsy el -59 Fsaf 51D



Question Number : 139 Question Id : 4771878394 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One among the following does NOT come under cognitive domain.
LilsbTsu (Heusumsum misit spsitml 9| NlsyS HaTHSH 60T & 1D suTTHI.
Options :
Remembering

BIEMEITEY Fn T 60

Drawing
& &M TH6

2. ¢ >
Understanding
L1560

3, #

Evaluating

E NI



Question Number : 140 Question Id : 4771878395 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the INCORRECT statement relating to aims & objectives.
GrBrésb wHNID FVSEHTHT GlsTLTUTEAT SuDTaT FDenbs CHTHOSH 55
Options :
Objectives emerge from Aims.

CHrHE%535 0 (HhS (HDEEHTET 2 (HsuTHlsTDHeT.

1. %
The scope of objectives is limited than that of aims.
CBrEs5560 HbHl HDISEEHTERSSTT sumililiL FHmDauTsGou 2 srsmsl.
2. ®
Aims are specific and achievable in short time.
GHDISEEHETsT HOIULL L Hsitemio 2 smL_WH LHMID HOIFH I ST605F60
S ML_UIE Fnlg WIFH)
3.9

Aims are the guiding principles in education policies.

HDISEEHTsTH6T H60alS GlBTTeMSHEHS(H ulflSTL_(HID allHlHsir



Question Number : 141 Question Id : 4771878396 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Translation, Interpretation and Extrapolations are the specifications under
this objective in social studies.
Glurfeluwiiy, Gurpsrallsrssi wHNID 20 2o ST Feps o) allsr
sThS H15EHTaflsit F1p su(HLD

Options :

Synthesis

AELCEE T

Analysis

U LUl

Evaluation
LEANIENCY
3. %

Comprehension

yfgpsir
4.



Question Number : 142 Question Id : 4771878397 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A class — IX student is actively involving in classsroom activities, respecting
the opinions of his friends, working with them and helping others. These
activities are reflecting the learning indicators of this academic standard

(T PETUSTLD 6uGLIL OTEWTsUET su@GLiLsnmF GlFwsbuThHsersd 2 NFTHIOTS
F(RHUBE D TET, 2 susiT SsusnIsnL_ILI [HeWTLIT S 61637 6T 50T 6118l 5 (5155 (5
WL &S 2fsutHEHLsT F)swenThal GlFwsbUL (B WwhHDsuTHEnms 5

2 _sayslnrer. FHsF GlFwsburhssr ssoalls Fr53)6T THSS SNHML aTeyH
Golsmw Hrglusflssng

Options :
Appreciation and sensitivity

urrrL_(hSs) WHMILD FHIENT 6356wt &y
1.¥

Conceptual understanding

5 (HSSWsmaUL L T55106]% rersmsy
2. %

Reflection on contemporary issues and questioning

sh&Teol Ursfsnersst whnib aflsrrsssr unpmw Lrslustliy

Reading the given text and interpreting it

GaThSsOuUl L uTL U UGSl surTHS50 WHNILD & H6sr
2 I GlumHsmer allsmds @560
4. %



Question Number : 143 Question Id : 4771878398 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The following principle of curriculum development relates to importance of

linking the social studies content with daily life problems and experiences.
Llsitsu(pib Ssvailssl L Gubur’ Hé Glsrarsnsuilsd spsitm Fepsalilwsd
UTL $F65T 2 6TarTL_$55F60 (pSEILTS 9 eSTDTL suTlpdhandsuilsir
Ursflensrsanarujid osniLsMBISaTIYD GISTLTLUBS55H D5
Options :
Principle of creativity

usnLUyd Garium(

1. ®
Principle of flexibility
GlBFpays Gasrium®
2. %
Principle of conservation
uTgIsTaYs CGsrium®
3. ®

Principle of utility

uwsTur_(Hd Cariur
4. ¥



Question Number : 144 Question Id : 4771878399 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following, identify the INCORRECT statement
Lilsirsu (heusimsum Hls 2_sTem S6uDTaT FmDenDS STl 1l

Options :

In subject centric approach., lessons are loaded with informative
content.
UTL sDLDI s & (LpsnDuilsh 2 siTemr UTL BIS6T S F|BLLTaAT 5560160
. 2 _siTeML_$55m55 BlS Ty (HHLD.
1.
In constructivist approach. teacher follows chalk. talk method.

&5 Glauslliurl (f 2w wsnnuwilsy @i g FfATwi HeTenTssL 1y
wHnib Gusib psnpewwitl UlsrupHmEpri.

2.¥

In child-centric approach. knowledge construction takes place through
active participation.

BHLHmS snL0IL 2 am)Epsnnillsy gy rlsmsus SL_LsmiolILg

SMIFNUUTH0 UBIGsDHUSHT surTwilsvTs BL & GHLD.

Programmed learning is the contribution of behaviouristic approach.

BspuBSIu SHDD, BLSMS TG PsHD UEIS6TILIL
4. %



Question Number : 145 Question Id : 4771878400 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following, identify the learning experience placed at third from the
base of the cone in the order of increasing abstractness in Edgar Dale’s Cone of
Experiences
T &1 GLsflsir gsmiisus Fibiileir Ly SHMsD GYsmiLisuld (PSTGOT NI HH
ST (R SrUF puysnwullstuly 2wl L 5360HEhS ApsTDTuSTS (3)(HHEHLWD
b3S DDV HYsY|LISULD

Options :

Motion picture

Awssu uLin

Demaonstrations

BFwesb allsmd sl

Dramatic participation

Bl LIyl uBIGsnLY

Contrived experiences

Blwsburs FsLsUTS DjsniLIsULD



Question Number : 146 Question Id : 4771878401 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Lithosphere, Atmosphere and Hydrosphere come under this branch of
Geography.
5D Gs Temb, susilwsirLsub wHMID BisGsrern Gursirmear yafluilwsdlsir sThs0
Ulfallsit £1p sumAlsiTnF.
Options :
Phyto Geography
Sreurts yailuilwsy

Regional Geography

e LsoLt Lysiluiluisd

Political Geography

S rFwsd yafluilwsb

Physical Geography

v BupLilwsd yafluflwsd



Question Number : 147 Question Id : 4771878402 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
After observing the places like Shimla, Darjeeling and Nainital. ete., a class-X
student came to a conclusion that, when height of a place is increasing. the
temperature 1s decreasing. The learning approach that is reflected here 1s

Flibsor, Lrigdlefini, snpeflLmsd Gursitn F)L_BiSsmer 2_siTafILILTSHS Housilss
Um@ spp 10 —=y1b su@Liy wremrsusit sp(h @)L_S53160r 2 wrb 2 HlswTEHb
Gurgl Glsuliuplsna) HmDAIDSH 6T6TD (PlyayHFH suHB DTer. 35
dirglusiis @i SHDsd 2jsmiE D

Options :
Inductive
aflglou B tpsmp
1.v

Deductive

aflF5 B psnD
2. ®

Concentric

GluTsl smiDW
3, #

Spiral

a'rg_‘usb
4. %



Question Number : 148 Question Id : 4771878403 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A visit to water works, printing press, telephone exchange & railway station
majorly help in learning about these resources.

BT Blsmevib, FF5D, Bl5TensvGUF Blsmsvwib wHNID GlHTL TeusmTiy
Blsmevwih GurstpsuNsnDU UTTswsuullHILEUTH 2S5 6THS 61N WITET

SDOYIS S 25 D).

Options :
Geopgraphical
yailuflwsb GlgrLiureT
1. %
Economic
CuTmeTTSTT GlSTL TLITST
2.
Historical
sursVTM GG T LT
3.

Cultural

. HOTFFTTLD GlSTL LTS
4.



Question Number : 149 Question Id : 4771878404 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the characteristics of good evaluation tool among the following

LilsiTsu Heusrsun Mledl(hH&l Bsvsw WHITLE RS &mHallsE 2w usiTys

Fn MIFHeM6TS blsTewT (HsTemsuDen DS ST 1%,

A) Practicability

BENL_(LPEmM
B) Subjectivity

g;asﬁ‘uu_lm

C)  Objectivity

Lm &b

D)  Reliability

BLOLISELD

E) Validity

6T ) L|6W LD
Choose the correct one:

Friwrar spsitenmsd CHiHolsHES:
Options :

 x ABCD&E

A B.C& Donly
A B.C& D wr (i

A.C.D& Eonly

A.C.D & E i
3.9

B.C.D & Eonly

B.C.D & E w (b
4. %



Question Number : 150 Question Id : 4771878405 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Match the following List-A with List-B, regarding component teaching skills

assoclated with different stages of a lesson.

&S5 Fm sHUSH60 Snemerwjib wHMID 9SCarTH GlSTLTswL W
urL_GJlsr GleusuGeaum Ly Blemevsemerujb suflsms-A ulled(HH 5 suflsns —B-

Cur® Gurmsss

List-A List-B
auflens -A sufleme -B
(Stage of lesson) (Component teaching skill)
(urLggleir Lig Blemsv ) (Sdsdamp spLsS0 Fpsir)
A) Planning stage i) Demonstrating
S L 1O(pib Blemev GlFwsd ailsrssin
B) Introductory stage ii) Giving assignments
9 nlips Blewsw PUILISHLLIL] ST60
C) Presentation stage i)  Selection of the audio-visual aid
(LpsiTemeUS&HLD Blsney sps0l- speil] Hlemewrs & mallsmeard
Glsifey GlFilss
D) Closing stage 1v)  Introducing the lesson
pig6y Blswev uTL G5 Y olPpsUu{HE560

Choose the correct answer:
sHlwrer aflnLsnins C5iHE65 0SS
Options :

A-m;B—iv;C—1;D-1n
1.¥

- A-iv;B—-1;;C—1;D-1n

A-1ni;B-1;C—iv;D-1n
3. %

A—iv;B—iii: C—i:D-1ii



